BT.p

ELESA & 8% 3t

Ak k-3 9 L

- BRERWNEEPP)EARESER, GEMN. M. dEAR LML F
R,

B, foff, TAH0E,

e R o, Fhom, FEUNIRIMTISO4TE3H =,

L
L

B
=
el
it

e

|2

- D _ - I . L _
W HF F R~ WRAT B2
g fl = D L di d2 |2 d 6g I g
6351 BT.16 p-M4x10 V4 10 K
6356 BT.16 p-M4x16 16 13 11 9 5 M4 16 4
6371 BT.16 p-M5x10 M5 10 9
6376 BT.16 p-M5x16 M5 16 6
6541 BT.20 p-M5x10 M5 10 6
6546 BT.20 p-M5x16 M5 16 7
6551 BT.20 p-Max25 M5 25 8
6571 BT.20 p-M6x10 20 16 12 11 6 M6 10 9
6576 BT.20 p-M6x16 M6 16 10
6581 BT.20 p-Mbx25 M6 25 12
6591 BT.20 p-M6x40 M6 40 15
6641 BT.25 p-M6x16 M6 16 19
6646 | BT.25 p-M6x25 o5 19 16 5 a M6 25 11
6661 | BT.25 p-M8x16 M8 16 14
6666 | BT.25 p-M8x25 M8 25 17
6753 | BT.32 p-M8x16 M8 16 16
6755 | BT.32 p-M8x25 M8 25 19
6758 | BT.32 p-M8x40 2 2 17 Y 5 M8 40 23
6763 | BT.32 p-M10x20 M10 20 23
6765 | BT.32 p-M10x30 M10 30 28
6768 | BT.32 p-M10x40 M10 40 34
6833 | BT.40 p-M10x30 40 27 19 25 114 M10 30 s
6883 | BT.50 p-M10x30 50 28.5 22 31 13.5 M10 30 41

elemnu'l'“r ‘ELESA” and “"GANTERGRIFF" models all rights reserved in accordance with the law. Always mention the source
when reproducing our drawings.




